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Integrated Math 2 Semester Final Study Guide
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investigate the relationship
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between the angles and the

sides of a right triangle. You
will start by studying slope

triangles. Notice that one
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Draw three new slope
s/ triangles on the line. Each
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formation as you

such as its hor
vertical lengths and its angle
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b. Explain why all of the

slope triangles on this line

must be similar.
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by writing the slope ratio for each triangle as a fraction, such as ¥ . (Note: Ay represents the

Since the triangles are similar, what does that tell you about the slope ratios?

Confirm your conclusion ote .
vertical change or “rise”, while Ax represents the horizontal change or “run”.) Then change the slope ratio into decimal form and
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